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and PART - B

2} Amswer divislon fa) or division (B) of pack question in BART - [

(2l Fach guestion cardes 2 mocks in PART - 4§ marks in Part — B
ared 10 marks i PART - C, |

PART — A
L. Define the term transiting.
2. Define lotitude and departu-e,
3. What is the purpose of providing analiotic lens in a tacheomatar?
4. Define rermate sensing.
5. What are the different types of curves?
&.  Howa curve is cesignaed?
7. What is o total station?

8. What are the two systerns of tacheocmetry?

PAR: — 8
9. What are the fundamental lines of o theodolite?
10. ‘What are the field checks for ¢ closed troverse?
11, Describe the fundamental formulc for tangertiol tacheometry,
12, ‘what is meant by single plane methad?
13. ‘What are the uses of hydrographic surveying?
14, Narne any five elements of o simple cCircular cupve,
15, Colcutate the degree of the curve if the radius is 300m.

16, Write short notas an LIS,
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PART - C
The follovwing are the latitudes and departures of the sides of o

closed  traverse  ARCH. Colcutate  the independent
co-aordinates and fing the area of the traverse.

Lire Latitude Departure
AR +107.40 +62.00
3 zTa -122.60 +102.90
o -77.90 4500
DA +93.10 T | -119.30
)

Fhe fallowing are the lengths and oearings of the lines of a
closed traverse ABCO. T'he length and bearing of DA have been
omitted. Calculate the lzngth and bearing of the Line DA,

Ling : Lengtn [m) Hearing

AR 75.50 30% 240
BC 150.50 T 31o*3s ¥
o 50.25 210° 300 |
DA ? 7

A tacheometer fitted with an anallatic lens was setup at a
station and the following readings were taken on o verticatly
neld staff.

v st t Staff Yertical ! Stadia halr readings |
| Station | stotion | angle

LA | BN ~5* 20 1.150, 1.800, 2.450
LA B FB7 17 750, 1,500, 2,250

Find out the horzonoal distanoe AB and the reduced Level of B,
The EL of BGM is 500 m.
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Determineg the vaiue of tachometer constant from the following
observations.

st Staff | Distonce | Sradia readings
Station station 1) | Bestem | Tﬂ]ﬁ_ ]
A - 150 1.255 | 2.750
o 4 ' 200 1.000 | 3.000
£ 250 0,750 3.255

Cetermine the RL of top of chimnrey froem the following
obserations,

Inst. Station | Reading on BM | R.L of B.M | Verticol ung[é'-
E 1T nELa 150650 g2 p |
B 0985 | 150650 |  +14° 3%

Distance between A & Bis 21m. A, B and top of chirmney are in
same vertical plane.
fCr)

il State the applications of remoie sersing.
{il Write short notes on photogrammetry serveving,

Two tangents intersect ot chainoges of 1250m. the angle of
imtersection is 1530°. Calculote all data necessary for setting
out a carve of radius 250m oy the deflection ange method.
The peg interval may be taken as 20m.  Prepare setting out
table, when the lecst count of theodolite is 207.

el
Two tangents AR and BC intersect at a point 3 at ¢ chainage of
150.50m. Cawulcte all the necessary data for setting out o

eircular curve of radivs 100m and defection crgle 30" by the
method of offsets from tre Long chord,

{i} Stcte any five adventages of total station.
{iiy Explain the procedure of seiting up total station on the field,

G}
Explain the field applications of GIS .



